DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

Duvision: Name:
Time: Score:
o) —7379+0.1 = 150 —8.84 + (—0.1) =
2 —1966 + (—2) = 51 —147.48 = (—0.06) =
29 —373.25 + 0.5 = w9 3748 + (=) =
2y —903.1 +1 = 39 4.223 + (—0.01) =
) 915 + 0.2 = u 68.551 + (—0.7) =
126 6.152 = (0.8 = 1) —1499.4 = 0.3 =
21 —597.9 + (—0.6) = 12)(0.596 + (—0.05) =
128) 33200 + 10 = up) —10752 + (—=2) =
) 3284 + (—0.8) = ) —4389 + (—3) =
50 —3840.9 + (—7) = ) —0.5698 < (—0.01) =
w1 0.0059 < (—0.01) = i) 42,735 + (—0.5) =
@) —2986.2 + (—0.6) = un 7.896 <+ (—0.06) =
33 40.61 +1 = ) 42.82 + (—0.05) =
131 —51.392 + 0.08 = 19) - —0.5435 + 0.05 =
135 —155.67 + 0.03 = 150) 3870 + 1 =
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